CMR
INSTITUTE OF USN
FECHNOLOGY

Internal Assessment Test 111

Sub:  ENGINEERING MATHEMATICS | Code: 17MATII
Date: 20/ 1172017 ~ Duration 90 Max s Sem: 1 Seer  B,D,F
;mins Marks: T T
Q1 is compulsory. Answer any 6 questions from the rest,
OB
Marks O [RET
I
I. Obtain the reduction formula for [ cos™x dx and hence evaluate /2 cosm x dx, 08 | co7| 13
where n is a positive integer. o -
Z2 3 -1 -1
2. Find the rank of the matrix |1, ~1 —2 —4|
3 1 3 -2 [07] | CO7 | L3
6 3 0 -7
3. Solve the following system of equations by Gauss-Jordan method:
x+2y+z=3, 2x+3y+2z2=5, 3x -5y +5z=72 [07] | CO3 ¢ 13
| -
4. Show that the transformation y; = 2x; + X3 + X3, Yo = Xy + X2 + 23,
y =%~ 2x3 is regular and find the inverse transformation. [07] | CO3 | L3
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INSTITUTE OF USN
TECHNOLOGY

Internal Assessment Test I11

Sub:ENGINEERING-MATHEMATICS | Code: - 17TMATILI
Date: 20/ 11/2017  Duration 90 Max 50 Sem: | Sec: B,D,F
. mins Marks:
Q1 is compulsery, Answer any 6 questions from the ress
‘ .| OBE
Marks &6 TreT
1
1. Obtain the reduction formula for [ cos™x dx and hence evaluate[) /2 cosmx dx, o1l cos | L3
where 1 is a positive integer. [08] ¢ -
2 3 -1 -1
2. Find the rank of the matrix |4 —1 =2 —#
3.1 3 -2 [071{ CO71 1.3
6 3 0 =7
3. Solve the following system of equations by Gauss-Jordan method:
x+2y+z=3, 2x+3y+2z=5, 3x—5y+5z=1 (073 | CO7| L3
4, Show that the transformation y; = 2x; + xp + x3, ¥, = X1 + X3 + 2x3, ]
y3 = xq — 2x3 is regular and find the inverse transformation. [07] 1 COT| 1.3
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5. Solve the system of equations 83x + 11y — 4z = 95;

7x + 52y + 132z = 104; 3x + 8y + 29z = 71 using Gauss-Seidel method. (07} |CO7| 13
6. Using Rayleigh’s power method, find the largest eigenvalue and corresponding
6 ~2 2
eigenvector of the matrix [—2 3 ——1] by taking X0 = [1,1,1}T as initial [07] |CO7i L3
2 -1 3
eigenvector. Perform 5 iterations.
. [07] {COS | 13
7. Solve: x;i;+ y = x3y®,
(07} [CO5| 1.3
8. Solve:(x? + y2 + x)dx + xydy = 0.
9, Find the orthogonal trajectory of the family of curves: " cosnf = a”. {071 | CO51 13
10.1f the temperature of air is 30°C and a substance cools from 100°C to 70°C in 15
minutes, find when the temperature reaches 409C. [07] | COSs L3
5. Solve the system of equations 83x + 11y — 4z = 95;
7x+ 52y + 13z = 104; 3x 4+ 8y + 29z = 71 using Gauss-Seide! method. {07] {COTI L3
6. Using Rayleigh’s power method, find the largest eigenvalue and corresponding o
6 -2 2
eigenvector of the matrix l—z 3 ~—1} by taking X = [1,1,1]7 as initial  [07] |CO7| L3
2 =1 3
eigenvector. Perform 5 iterations.
7. Solve: xS+ y = x3y°, [07) [cos! 13
8. Solve:(x? + y? + x)dx + xydy = 0. [07] |cos| L3
9. Find the orthogonal trajectory of the family of curves: r" cosné = a". . ,
[07] CO5) L3
10.1f the temperature of air is 30°C and a substance cools from 100°C to 70°C in 15
minutes, find when the temperature reaches 40°C. [07] [CO5| L3
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